Polardkon s
RICH NE Cqlx) 1g) t Celx) 1Y

’?gm: |Cq G Pe (&) = | Co x|}
?%L‘&) *PVxy=1 = \C%(;t)\?' t \ CQ,U&HZ

Poax vrown sutrem
S‘\‘\QV\S (,oa?\w& \ae;\-we,evx (7} VQ\A&OV\ anch o EKC\'&DV\

heston
Er(vton = Lutown (\/;AD @

/—‘\ﬁ MO\Q,'. Q&&V\Qe/ On. cun de,c)‘k"o‘/\

Widons and sutony are  bosond
\> Aexvped oy O \ormomce esuletord

(V3 CAV\V\\\/\\\«JC‘mv\ @P—U‘u-\ctﬂ‘ of *\'Q-— ?\M’{O\'\ (—42)\0(
b+ oy deton o?:a)(o\-\cor of Yo adedon prold

[l TETL Ce0d = 1k
Chel=t
Lo, b3= Lo, ¥1= [a', b= [a! k'] =0

N Photons

4D = “%‘ '%, CV\?.V\Q, m(\_?/)lf-n\e;?, We  eXenvkows
Q\"‘*Q'ls Q*U\'kov\,s

Bo RS B Inpne): & State
e 2-. 2_ CV\?‘“@. InQ,nQ,) e 67 o{, q‘?Lc\:ou
y-_mg Y ek o @6cctou

f‘\\o*on URUon IV §



E}'&O\W\‘\L "

Wy = & (o) +104)
. A Ph‘*o“ o Q\M-*OM
0 QkLitany A RE(\tow

H, = Rw kof"a + l)
2
K - :
{olHsl0) = fw o| (050\ *i) ) 4&3;" (mr;_?
< (k1 VK
3 [Hw (40\06 (oY + XE <oto>)
3

-
-

A K

2

We ove wok  (wereonked wn obpolte sy ‘e LA
on  nRrqu A LoRinCen

— — T,z AW £ b
AT s,
AE;Et‘Eo: ‘\RUD

\Qo"ilv\wc
Z

ENU\’%U\ O% A {.«T% beson = \.\°= 1;\(»3 o\"‘Ou
Hz Ewo o &+ Rwg b' & 9 ([ o b x\dar)

L’Al‘of MO L. o | K citown o d cu:\c\ a@\wkow
om  S8nton Vecomen o ’p\\.atcv.

\5‘0\‘. wmo v o Q\Iw‘\ie\q cend C,(o\o\ an X (thow

v «?\/\o-kevx v cones opn | RKL\EFO\



c e - &Qu\.ob»\& 3.€.|
W04 Iy = Ky

M= ka dta 4+ ko B +hg (& +184)
&Tw&u ® LeUtowns
vty oo 5 ?l'\;.r\iow& S E)&CVQOV\
CLonystan+t Lownskount io ? avk LCL{A

6 photons 4 x(itons
L ol it
H o kerps Yo owmdeer o QourkL chex conskeont,

Bx am}\e, )

Witz = 14,07 { 14,0) , l®¢1§&
ey = Co ey 4,07 + Co k) L0 AY oK | =Vidk-))
dlesy= ks

aa |4y = Cole) 140D
b 1) = Cel) 10,1
b 1NK)Y = Celd) | 4,0)
CCRREDBENSERERY

oWy = i (e

Wb = Y otor ) & g o by
A %y (ot W& a) 14N

T hwo Gpla) 14.0) & iy Co Lx) LO4Y
+ % ((Coln) L00) + Cpled10.0Y )

e e
- k(LUQBAAGE) Loy « K (BLGriagTR) 0O




T o4y = Th d [epwy 40y + Cola Lo, 00

‘ﬁ'LDQL \1lo) o \o*l\ i% lD‘L»

N £
Y

({]

[0 SR (wQQ?(&HSCe,m) \Etutc(a. on hoth Sides
y 4

i

:4-;-2
7

11111111111
IIIIIIIIIII

| I

l
%: : (b"o Q,ﬂg)-‘e%(.e,l*)} j
: g—% ==t (%Cew A3 me) %

% V=N D V)= e,“t{ia)

Ht ™M W
ot E ( 1 Waeg )
W\Lt N\LZ.

(Wo ~Wi) = A R= Vag+ A

Lt (Rt wetlog)/
W= A [D.+ AL pte (\L-A\& e =
by 2 (=21 = g m(&) & T (Betal /e,

Moy an 2 gsm(u) i 1



. _ vt (Btwetwo )/
Mer L [R-ar el e i

C?(k\ \) - ( WA M ) ('C?(o] }
Ce (%) Wei WG Ce (o)
WY = Cple) 140D 4 Ce () 10,4Y

SV\ OUY ex CL\N\?\Q. Cvto) = A Cg, (2) =0

v (Rtweton) /o
G = wmy =L [Raas M p-arl €

Cele) T WMoy ol o q gmkp:_t) & it (Watwyw) /2
‘l 2
[ACE \Cprl“ = ;-l[p_*b e Lo_-a)\ [MA 16 % (po)]

5 7\%" [Q”r A 4 (-~ KV--ASLHb\(‘?}% + ént) 1

A {m}t&) +9(et- &%) Ce () &

o
= e el
= 2.D3'{ Pt et (RY-4%) C,s.sw-{)(l
= Vaot +o% LEPE L e S

S AGJZ

RPtatz aqi4 At ot

Pplx) = 3&— {z (295¢aY + 432’Coaw£)&



3-.
Plot g joncton
% t tor s

We \'\w-*e, Qeovx& QJ:A\Q\ 95@\\\m‘\tows vIA o,
‘@é\u\'\“tom

EL

SHL [ )..(&L-(-Az'-k L%ZC,oaLD—'US

D

FW @S- OSCJ\.\\CA"\'LQV\ ‘ D—-O\\ox 93&1\,\\0\\:10»\
= ﬂﬂl.‘. .




